
 Kilo Hecto Déca 

 

Unité 

principale 

Déci Centi Milli 

 km hm dam m dm cm mm 

        

 kg hg dag g dg cg mg 

        

  hl dal l dl cl ml 

        

 

12,56m = _____________________ mm                                                  289,5m = __________________________ km 

 

12,54kg = _______________________ g                                                  452mg = ________________________ g 

 

43,35l = _______________________ cl                                                    522ml = _________________________ l 
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